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LINGUISTICS
PAPER —1II

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all of them.

1.  The statement “Linguistic competence is the total knowledge of a language” is :
(A) True (B) False (C) Partially true (D) Partially false
2. The Linguistic levels of sentence description are represented. in the following hierarchy.

(A) Phonological, Morphological, Syntactic, and Semantic
(B) Semantic, Morphological, Phonological, and Syntactic
(C) Morphological, Phonological, Syntactic, and Semantic

(D) Phonological, Syntactic, Semantic, and Morphological

3.  Identify the odd one away the following :

(A) Pictograph (B) Ideograph
(C) Logograph (D) Calligraphy
4.  The concept of ‘Langue” ‘Parole” distinction was first proposed by :
(A) Leonard Bloomfield (B) Noam Chomsky
(C) Ferdinand de Saussure (D) Hermann Paul
5.  Phatic Communion means :

(A) Language used for establishing an atmosphere or maintaining social contact
(B) Language used for exchanging information or ideas
(C) Language used for commenting on the weather

(D) Language used for enquiring about health
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6. Arbitrariness means :

(A) there is inherent connection between form and its meaning

(B) there is personal connection between form an its meaning
(C) there is no inherent connection between form and its meaning.
(D) None of the above
7.  According to “Design features” the system of animal communication is different from

human language, because :

(A) Animal do not think

(B) Human language is generative and infinite
(C) Animal communication is imitative
(D) Human language changes over a period of time

8. Match the items in :

List - 1 List - 11
(a) Language in society (i)  Ethno-linguistics
(b) Language in culture (i) Psycho-linguistics
(c) Language in mind (iii) Historical linguistics
(d) Language change (iv) Socio-linguistics
Code

(@ ® () @
(A) @ @) () (v)
(B) (@(v) @) @) (i)
(€ @ @) @) @
(D) (@) @Gv) @& ()

9. Idiolect is the :
(A) Speech variety of a single person
(B) Speech variety of a family
(C) Speech variety of a community

(D) Speech variety of persons of a village

D —3108 4
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10.

11.

12.

13.

14.

15.

Find the correct pair from the following in terms of the case marking on the noun
Rohan :

(A) Rohan’s Dative

(B) to Rohan Genitive

(C©) Rohan Nominative / Accusatice
(D) Rohan Ablative

Which of the following makes a natural class ?
(A) [bm]rs] B) [ptbkgl]
©) [Leylr] (D) [s,zkln]

Formants are an indication of :

(A) Resonance in the pharyngeal chamber
B) Resonance in the oral chamber
Resonance in the subglottal chamber

)
D) Frequency of vibration of vocal cords

Sounds which do not occur in an identical context are said to be in :
(A) contrastive distribution (B) non-contrastive distribution

(C) partial distribution (D) none of the above

One can distinguish between consonants, vowels, liquid and glides on the basis of :
(A) = Consonantal and * vocalic features

B) = Sonority and = syllabicity

+ Consonantal and places of articulation

All the three above

Neutralization refers, to :

(A) The process of a sound becoming distinctive

(B) Loss of a distinction between two phonemes in a particular environment
(C) Loss of a consonant in the medial position of a word

(D) Loss of phoneme in the word-final position.
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10.

11.

12.

13.

14.

15.

e G o R Fag &t =5 9 F=fafed § 9 98 33 &1 990 #ife

(A) Rohan’s T Sheh

(B) to Rohan HeY T

(C) Rohan Tl R / FH HRH
(D) Rohan YIS hllch
frefafed § 9 98 o &F 918 ?

(A) [bmlrs] B) [ptbkg]
© [iLeylr] (D) [s,zkln]
TS % L ®

(A) TEH IR H SR (B) Y& foaR # 178

(C) AftvarEgia foer ¥ 1Ag (D) = df3E % huA i i

St et wam el o 7@ ot € 9 Frefafea § 9 fh faaor § seond €
(A) Al foam

(B) sttt foaum

(C) TR fereo

(D) S9I® & ¥ &g T

Ziorl, TRi, Tt T aen gfd H 39 YR W 9 T < epa §
(A)  + SIS T 4+ THS ATTAL

(B) iﬂ@'{ﬂTﬁﬂTiﬂT&TﬁE

(C) + SHSHICH a1 ISRV TIH & SR T

(D) 39 Gfl I ok YR W

frdfdieRtor (Neutralization) Hehd T € :

(A) =afTEl o 9SO S afH

(B) Toret forow wferer & <1 Wi & faadiertor < aafol 1 &g
(C) Wss okt Hey feafq H b w1 <l

(D) = &t si@fefa o @ e &1 @g
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16.

17.

18.

19.

20.

21.

State which one of the following statement is correct :

(A) Plosives, fricatives, and nasals are continuants
(B) Plosives, fricatives, and affricates are sonorants
(C) Semivowels, laterals and nasals are sonorants
(D) Vowels, laterals, and semivowels are consonants

One can distinguish between p, t, k, on the basis of :

(A) Voicing and aspiration
(B) Place of articulation
(C) Manner of articulation
(D) Level of acoustic energy

Morphologically conditioned alternations are :
(A) always regular (B) always irregular

(C) sometime regular (D) sometime irregular

Endocentric, exocentric, appositional and copulative are the types of :
(A) Simple words (B) Complex words

(C) Compound words (D) Free morphemes

Identify the odd-one among the following :
(A) Affixation (B) Compounding
(C) Reduplication (D) Counting

Rohan wants to win the game is a case of a/an :

(A) Exceptional Case Marking (ECM) construction
(B) Control construction

(C) Raising construction

(D) Pro-drop construction
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16.

17.

18.

19.

20.

21.

frefafed § 9 o8 o1 oA 98 7

A) TR, TeHl, AF Forel B § |

B) Thiceh, Gerdl qor w9t Heret qEid B |
YT, dTeted qe e JEid Bid & |

)
<)
D) R, dicied a0 STHeR = 8 § |

(
(
(
(

TAF. ¥, 370 9 fry SR R 9 foman < dehar 872

(A) IS qeT YIoTel (B) N TM & 3MUR W
(C) =R HIS (D) eAfTeh Sl o TR W
wfuftyer Gty afteds o=m €2

(A) w1 fafa (B) Ha1 AT

(C) vl frafia (D) -l stfrafdd

endocentric, exocentric, appositional T copulative (dvandv) fFd J&R & W% :
(A) WA K B) A=
(C) wrIfEs wsg (D) &% T

Trefefiad o & S ol | ST § SHeh! U8u i ;
(A)  TIHRTO (B) HHTHIRTOI
(C) YIel® (D) U

Rohan wants to win the game 379 ¥ fhH YhR &1 1 T -
(A) 3TYemE ik o o (8 6t ww)

(B) T @

(C) ST T

(D) M (pro) TG T&
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22. Identify the name of the transformation from the following pair of sentences :

(i)  Rohan watched the movie

(i) The movie was watched by Rohan

(A) Passivization (B) Reflexivization
(C) Pronominalization (D) Raising

23. The concept of ‘parameters” in grammatical theory means :
(A) The principles that interact to derive grammatical expressions
(B) To exceptions to particular rules of grammar
(C) The limited number of ways in which a particular language differs from UG
(D) The peripheral use of language by native speakers

24. Select the right answer for the following sentence :
For Waheeda to like Geeta is surprising
A) Waheeda gets Nominative and Geeta gets Accusative Case

B

~—"

(

( Waheeda gets Accusative and Geeta gets Nominative Case
(C) Waheeda gets Accusative and Geeta gets Accusative Case
(

D) Waheeda gets Nominative and Geeta gets Nominative Case

25. In the sentence Can John go home ? the transformation involved is :

(A) Subject-Auxiliary Inversion
(B) NP-movement

(C©) Auxiliary-movement

(D) wh-movement

26. According to the Indian grammatical tradition, the term aakhyata is equivalent to :

(A) Verbs (B) Prepositions (C) Nominals (D) Adverbials
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22.

23.

24.

25.

26.

Frfafea s g o fau SR 28 &1 7m a6y

(i)  Rohan watched the movie

(ii)  The movie was watched by Rohan
(A) dT=HIH (B)  frta=iteRtol
(C) TR (D) eI

TR g H wree (THTeX) i Hehed T | dre €

(A) o fagra fomet wom gfea & =i sifiyeafs 3o 2t 21
(B) =R o fafdre frmi & s1verg

() A FB Hifid YR Sk wRr v faer wrelsdifres o 9 fim 7
(D) TG WTHt §RI T o1 SAfIRE 9T |

feu 7T a1 o T 9@t I 1 =TI DI

For Waheeda to like Geeta is surprising
(A) I il Rk H T Il HH HRE H |

(B) TEII hH Rk H qAT AT il R H ¢ |
(C) el %H HRE § g Tl Y HREF H T
(D) aEIST Sl %R B AT Tiar i HRE | T

R Can John go home ? § FrAfafEd # ¥ &iF o1 I=RT T
(A) Hal-GerEe Bhan Hu fauda (e-3tied-sesii)

(B) HaIEH =@ (T W qoe)

(C) Hereh han 9 (e HaHe)

(D) ¥ el (T TH o)

AR SH0Teh TERT & TR 7T 3 & TUged © -
(A) B (B) YOS (WY SIY)
(C) Had®w )IREERIENEY
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27. In the sentence I saw a man with binoculars :
(A) There is no ambiguity
(B) There is lexical ambiguity
(C) There is structured ambiguity

(D) There is phonological ambiguity

28. Identify the stative sentence from the following :
(A) Rice was eaten by Mohan
(B) Mohan likes rice
(C) Mohan ate rice

(D) Ravi is running

29. Identify a non-diectic expression among the following :
(A) That book (B) Come here !

(C) I am smart (D) The book

30. Which of the following pairs is correctly matched ?
(A) Different words that are pronounced the same way - - - Homographs
(B) Multiple meanings of a word which are related historically or conceptually - - - Polysemy
(C) Words that spelled the same but pronounced differently - - - Homonym

(D) Words that are spelled the same but have different meanings - - - Heteronym

31. Wave Model was propounded by :
(A) Hugo Schuchardt
(B) Johannes Schmidt
(C) Karl Brugmann

(D) Ferdinand de Saussure

D —3108 12



27.

28.

29.

30.

31.

D-—

QU T AR H 1 saw a man with binoculars :
(A) T IgeTHRA TR T |

(B) Ifece aIgeTeiehd T |

(C) TTETHS TgAdehdl |

(D) @ffae Sgetelear T

frfafaa § 9 ferdt Yo o &1 98=M Hife
(A) Rice was eaten by Mohan

(B) Mohan likes rice

(C) Mohan ate rice

(D) Ravi is running

frAfafead ¥ 9 AH-s@fae® (Non-diectic) 3TfHaafd i 989 ST

(A) That book (B) Come here !
(C) I am smart. (D) The book
frefafed g & oF @1 @8t foea ¢

(A) TH Tk ¥ 3aRa fafis o - - - g™

(B) T I S Ufceiioeh iR HeheuTcHeh i Y Tahielt B - - - Threlehd
(C) ot @t T8 & FHM T SR i g8 T4 915 - - - FeATHa

(D) adt bt g | oM Wy 21ef ot gy 9§ i weg - - - famreder

T Hiew fram yfamfea foman -
(A) IR
(B) STerd femy
(©) =Tt T

(D) icie g &R
3108 13 P.T.O.



32. Match the following hypotheses / concepts with their respective proposers from the
given codes :

(a) Lexical diffusion (i)  William Labov

(b) Exceptionless sound change (i) Murray B. Emeneau

(c)  Social motivation of sound change (iii) William S-Y. Wang

(d) India as a Linguistic Area (iv) Karl Brugmann and Hermann
Osthoff

Codes :

(@ () (o (@)
(A @® G Gv) (i)
(B) () (@v) @ @)
© @ @ @) @)
(D) (v) G) @ (i)

33. Match the items of List - I with List - II and select the correct answer from the codes
given below :

List - I List - 11

(a) Loan words (i)  where the meaning is borrowed and the form is
native

(b) Loan blends (i) where both form and meaning are borrowed

() Loan shifts (iii) where meaning is borrowed but only part of form is
borrowed

(d) Calques (iv) where the forms in the borrowed irons are translated

Codes :

(@ () (o (@
(A) @O G @) (@)
(B) @) (D) (@) @

(D) (@v) @) @) @
D —3108 14



32. Tr=fafEd geReaHstl / Sehedmiedl &l A ST U SIS o1 TRl § 3% F&iEei o | §
THeET

() fafeem <ata

(i) T TR

(iii) faferw wg. 9. =i

(iv) ohel 9THM a0 B9 STeh

33. e ¥ QU TTU wef ol gt 11 9 foams qen = S T i 9 |t SW Al 991 i :

e 1

SN e

rTd g Isg

3mTa ¢ uRgfa

(iii)

(iv)

et 11

ST T § 37ef TR0 fohan e § vres 1 T qa
TS TSIl S |

I1eg 1 ®Y R 274 SHI AT AT F Tg0 fRy
EIckL

ST T § 379 1 ¥eq & &9 FS A% &
T TR ST 71

3TN T o &Y 1 AU STTAE Tohal STt |
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34.

35.

36.

37.

38.

The influence exercised by our sound segment upon the articulation of another so that
the sounds become identical or similar is known as :

(A) split (B) merger (C) assimilation (D) dissimilation

An irregular paradigm is made regular by the process of :
(A) Sound change (B) Borrowing
(C) Analogy (D) Morphophonemic change

The word morphophonemics changing into morphonemics is a case of :
(A) Assimilation (B) Metathesis
(C) Dissimilation (D) Haplology

The concept of linguistic typology is based on :
(A) inherited features found in languages

(B) Common features found in same language

(C) Common features found in most of the languages
(

D) Universal features of languages

Match the items in List - I with List - IT and select the correct answer from the codes
given below :

List - I List - 11
(a) Kurux (i) Indo-Aryan
(b) Maithili (i) Dravidian
(c) Santhali (iii) Tibeto-Burman
(d) Bodo (iv) Austro-Asiatic
Codes

(@ @ () @
(A) @ @) @) (@v)
(B) (@v) @) @) @
© @@ @ (@v) (i)
(D) @) @Gv) @& ()

D —3108 16



34.

35.

36.

37.

38.

T & 59 gEA A % IERY W U9 el @ fSed SEl st wee @ et €1 9w
FHEA &

(A) faged (B) faerad
(C) gHteRTm (D)  feromieRTon

srfrafaa wamee il 31§ 9 s o gbeen gu fafad feen s wwa €
(A) et e (B) 3TRH
(C) wrgRAd (D) wuEffhes aiad

morphophonemics 1% 1 morphonemics H TR a1 g
(A) FHIHT (B) fawd=
(C)  foromtanTer (D) HHER o

AT9T-T&Y ! Gehoud 31  fohe W emenfia %

A) o H e arer sfaffea stfyersm

B) St W H fHer arel W Al

C) simiifereh & @t SIferenter snsti # e amer A= stfircrer
D) TS o Wi stfiyaer

~—"

(
(
(
(

Tl 1 A3 o1 gt 11 § fHamse qen = U T Sie o0t Tered § |t ST &l =37 Hif

et 1 g 11
(@) PEE (i) s
(b) Hforef (i) wfog am
(c) Herelt (iii) forssreit—l s
(d) e (iv) ST TforEfes W
&< :
(@ B (© @
(A) @ @) @) (Gv)
(B) (v) () () (i)
© G) (@ (@v) (i)
(D) @) (@Gv) @) (i)
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39.

40.

41.

42.

43.

Select the correct answer from the options given below :

(A) All the Indo-Aryan languages have sentences-initial complementizers
(B) All the Tibeto-Burman languages have sentence-final complementizers
(C) Some Dravidian languages have sentence-initial complementizers

(D) Some Indo-Aryan languages have both sentences-initial and sentence-final
complementizers.

In which of the following languages is reflexivity expressed through nominal anaphors
and reflexives ?

(A) Bangla (B) Malayalam

(C) Khasi (D) Oriya

The speech variety of a particular individual is :
(A) Idiolect (B) Sociolect

(C) Dialect (D) None of the above

Diglossia is found in :

(A) The Arab world, Greece, German-speaking Switzerland and Haiti
(B) Mauritius, Haiti, Greece, and Switzerland

(C) Switzerland, Greece, Tanzania, and Antigua

(D) The Arab world, Switzerland, Germany and Greece

Gradular or sudden move from the use of one language to another is called :
(A) Language maintenance (B) Language shift

(C) Language change (D) Language variation
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39. fou g fashedl # € WEl ST 1 =77 i
(A) Tt 3 el H e 9 % Ry H Far T
(B) @t fassrcit—aredt stronedi ® b o % o7d § 2 7
(C) FB fae awisi ¥ e oI % SIRY § Bl 7 |
(D) FS 3 Il | [eh 1o ok STRY q 3id aHl fefaai # g §1

40. fmfafea 5 9 feg aro § FHeiar=ietor 9qge Taeel (SHR) a1 Bhads fHsaras
S % gR1 T TR S B

41. T afe-fa9m & 9o 9 = F&d ©
(A) AfRE sieft (B) TS Seht
(C) =it (D) S9® ¥ 9 &S T

42, WTI-5A 9T SR
(A) oRE <9, U, RaesRele 1 SHA-wIftE! &1 9w q=n anfd &
(B) ifterd, i, d, Reesiels 4
(C) fersres, W, detwn, e |
(D) W@ ¥, faeseis, s, e o

43. TS I LA R GE A1 H1 R T SHFTF AN FHaamd § :

(A) ST — STgRE (B) e wigtd

(C) T ufEd (D) W %
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44.

45.

46.

47.

Match the items in List - I with List - IT and select the correct answer from the codes
given below :

List - 1 List - I1
(a)  Language of the Inner city (i)  Charles Ferguson
(b)  Diglossia (i) William Labov
(c)  Sociolinguistics : A brief introduction (iii) Ralph Fasold
(d)  The Sociolinguistics of language (iv) Joshua Fishman
Codes

(@ () (o (@)
(A) @) @ (Gv) ()
B) @) () G )
(© Gv) @) @) @
(D) @) (v) (@) ()

When two languages come into contact with each other, and influence each other,
with out any role of power and prestige relationship, that influence is called :

(A) Superstratal influence (B) Adstratal influence

(C) Substratal influence (D) Multistratal influence

Terms ‘Baby talk” and ‘motherese” mean :

(A) What the babies say and what the mothers say in the process of language
acquisition

(B) What the babies speak in the process of acquisition of language
What the mothers say to the babies in the process of acquisition of language

(©
(D) The mother-tongue as acquired by the children from their mothers

By ‘vernacular” William Labov refers to the variety which is :
A) a sub-standard variety

B) a regional standard variety

C) a variety used in day-to-day conversation

D) a standard variety
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44, G 1Y U U HET 1 G 11 H U T w1 § faest 9 = fou e wre @ weed 9 w93
I QI

e 1 e 11
(a) Language of the Inner city () TeH HEEA
(b)  Diglossia (ii) foferm <emE
(c)  Sociolinguistics : A brief introduction (ili) T HETTS
(d)  The Sociolinguistics of language (iv) SirgeT frere
Fe :

(@ (b)) () @
(A) (@) (@) (v) (i)
B) @ @) @) (i)
© (v @@ @) @
(D) @@ (@v) @ (i)

45. V9 VI U TR % OO ST & qe Tl Wiam % Heie o i % for uh-ge W
JUT STeld! © Al 39 YR o YHTe hl el STl @ ¢

(A) SURad g4 (B) Teheddd g

(C) ToRae g9E (D) gad g

46. ST 9T (IS 2eh) TN HIG A (FEUST) ol Haed ¢ :
(A) T AferT wf3pan § S s ofR |Y Sierdt § qen
(B) w1 AfermH Uishan H o= S St 7
(C)  or AT wf3pan & | <7 =1 9 St T
(D) == ST | i fo o w1 SAferTy ed ¥

47. ST (SFTgeR) ¥ faferem oiee % STTER Me-98 ©
(A) 3TIHFS AT 9 (B) &I HIeh T 95
(C) e aratemy H W W 9 (D) WM o 9T
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48. Match the following in List - A and List - B :

List - A List - B
(a) Prescription (i)  drill methods
(b)  Structuralism (i) function oriented communication
(c) Cognitive hypothesis (i) grammar methods of teaching
(d)  Sociolinguistics (iv) learner centred approaches
Codes :

(@ ® (o @

49. Dyslexia is a reading disability which happens due to :
A) Exposure to many languages in early stages of learning

B

~—

(

( Lack of exposure to more than one language
(C) Genetic disorders
(

D) Neurological disorders

50. A book on all fields of human knowledge is :

(A) Dictionary (B) Thesaurus
(C) Encyclopaedia (D) Glossary
-00o0-
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48. Tr=fafad gt A 3R gt B & fiemst :

gt -4 B
(a) ARG (i) A TS
(b) HIEAETR (i) TehmIcH GYTU IUFTH
(c) HAMTCHE YTeRheTHl (iii) o fereror sht SRR fafy
(d) TES H foRe (iv) Toremeff shfga sarm
Fe:
(@ B (© @
(A) @ @) (@) (i)
(B) (i) () (v) (i)
Q) (v) (i) @) @
(D) (@) (@) G (i)

49. “39ST” (Dyslexia) TS T8 § S fefafed § 9 forg R0 § Sar &2
(A) 3T o YA TR R agd-§ wristi | Hueh Wl
(B) T U 3fereh W1 § HYh o1 379
(C)  gHRH forshr
(D) THEfasH fasr

50. HHEA I F Gl &0 Bl T :

(A) = B) fugrg
(C) favamm (D) wT=ETE
-00o0-
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